Debugging Fib — the stack so far

the stack trace from the previous slide is laid out below

example shows that £ib(2)’s sp and fp registers have been saved in £ib(1)’s

stack frame so that they can be restored when fib(1) finishes

previous fp

—»

previ ous sp

-

current sp

OXOOFFFED4: 0x00000000 = t1 " saved for

OXOOFFFED8: 0x00000002 =1t0 fib(1)

OxOOFFFEDC. OxOOFFFEFC = fp - previous frane pointer
—— OXOOFFFEEO: OxXOOFFFEE8 = sp - previous stack pointer

OXOOFFFEE4: 0x00800078 = ra

P current fp

OxOOFFFEE8: 0x00000000 = t1 = saved for

OxOOFFFEEC. 0x00000003 =10 fib(2)

OXOOFFFEFO: OxOOFFFF10 = fp

OxO00FFFEF4: OxOOFFFEFC = sp

OxOOFFFEF8: 0x00800078 = ra

OxO0FFFEFC. 0x00000000 =11 saved for

OxO00FFFFO00: 0x00000002 =10 fib(3)

OXOOFFFF04: OXOOFFFF24 = fp a stack frame

OXOOFFFF08: OxO00FFFF10 = sp

OxOOFFFFOC: 0x0080000c = ra




